OPTIONAL PERMANENT MOUNTING
3/8 x 2 1!/%" CONGRETE. ANCHOR
3/8 FLAT WASHER

TYPICAL ALUMINUM PLANK ATTACHMENT

HOLD DOWN CLIP

5/16 x 1" CARR. BOLT

m\ 5/16 LOCK WASHER
5/16 HEX NUT

OPTIONAL PORTABLE MOUNTING

5/16 ACORN HEX NUT
/16 LOCK WASHER

RUBBER FOOT
5/16 FLAT WASHER
1/4” ROUND HD SCREW

5/16 x

TYPICAL WOOD PLANK ATTACHMENT

5/16 x 17 LAG . .

i

LYON METAL PRODUCTS

P.0. BOX 671, AURORA, IL 60507-0671

4 L v 4 g2
- \ L a9 4 < . 5
: ." 4 4 a4 441 _ )
. “. . lq .
H ) '4 . . .ﬂ
* Goe e PR
6'—0" MODEL (5824)
I o1
— 6" | 5, 6,’ -
8'—0" MODEL (5825)
[N
1’ 6’ 1’

»=  12.20.95 | RYAN HOLLEY
™ASSEMBLY PRINT FOR BENCH #'S 5824, 5825

"= DL-2LEG




